
∴  The value of (x and y): x = [
5 0
1 4

]  𝑎𝑛𝑑 Y = [
2 0
1 1

] (ans) 

 

(d) Given, 

  A = [
3 4
6 2

] 

  B = [
7 8
4 3

] 

 

∴  A+B = [
3 4
6 2

] + [
7 8
4 3

] 

             = [
(3 + 7) (4 + 8)
(6 + 4) (2 + 3)

] 

             =  [
10 12
10 5

] 

 

∴ AT =  [
3 4
6 2

]
T

 

         =  [
3 6
4 2

]  

 

∴ BT =  [
7 8
4 3

]
T

 

         =  [
7 4
8 3

] 

 

L.H.S = (𝐴 + 𝐵)T 

=  [
10 12
10 5

]
T

 

= [
10 10
12 5

] 

 

R.H.S = A𝑇 + B𝑇 

= [
3 6
4 2

] +  [
7 4
8 3

] 

= [
(3 + 7) (6 + 4)
(4 + 8) (2 + 3)

] 

= [
10 10
12 5

] 

 

                  ∴ L.H.S = R.H.S [SHOWED] 

 

 

Preview from Notesale.co.uk

Page 3 of 5


